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Which is the top view that matches the tower?
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This shape is made of 4 small squares. R
Move 4 toothpicks to leave only 3 small squares, all the same size.
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How many triangles can you see?
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How many circles can you find?
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| Which one is the correct shadow of the animal?
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How many squares are on this chessboard?
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Can you work out the mass of each animal?
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t otball on the outside.
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Move 3 circles to make the triangle point downwards.
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Which is the top view that matches the construction?
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| Move 3 crayons to make a new shape
that contams 5 trlangles
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Which is the top view that matches the construction?
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Which one is the correct shadow of the animal?

" W
B, 4

R

L s

| leﬁcultg LeveI
€asg

== : ===




0 e @
Ao limmeaser Tzrslreﬁ'ﬁ Ao

Move 2 circles to turn the triangle into a square.
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Can you work out the mass of each animal? .
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